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TRANSISTOR ANALYSIS R N 8 C1 1660F D4 a7 iouE B2
Transistor voltages given in the table glﬁ ;5281?9 At Cc2 166pF D4 & "
Col. 1 were taken from information supplied RL Q Al Cml 40F O3 Coils and Transformers®
3 15kQ At Cm2 35pF C3
by the manufacturers. They were measured on Rk4 15kQ Al Cm3 23pF  C3 L1 280 D4
a 20,000Q2/V meter .a_nd are negative with RkS 00Q B1 Cm4 175pF C3 L2 11-2Q E4
respect to battery positive. Rk6 330Q B1 Cm35 23pF C3 L3 10Q E4
RK7 4-7kQ B1 Cmé 190pF C3 Lmt —_— C3
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Transistor Table Rk10 1000 Bl Cm9 O0024F C3 Il e al
Rk11 100Q Bl Tml 30pF C3 Lk3 37 Bl
Transistor Emitter | Base [Collector| Rk12 270Q Bl Tm2 30pF C3 Lk4 — Bi
%) ™) Rk13  18kQ Bl Ckl  0047uF Al
Ral 10kQ2 A2 Ck2 0-047uF B1 Miscellaneous
TXml AF117 0-87 097 7-75 Ra2 180Q A2 Ck3 250pF Al 7
TXkl AF117 1-58 1-66 565 Ra3 12kQ A2 Ck4 2-7p Al S1-S10 _— C3
TXk2 OC70 e — 415 Rad4 10kQ A2 Cks 250pF Al S11 — D4
TXal ACI127 415 —_ 06 Ras 10kQ A2 Ck6 25uF Al Dkl CG64H Al
TXa2 ACI128 045 06 45 Ra6 1022 A2 Ck7 0-47uF Al
B AR W R P |8 B |8 oa
4 Al 7 47 - 0 a ,200p. -
a T %a?o ggg B% gﬂ? 4’7001)5 g% * Aﬁpggﬂ:mte d.c. resistance
+ Measured at the junction of Ral2 and Ral3. au 6200 %2 ‘Cal 01%(2):12 A2
Quiescent current 15mA.

CIRCUIT ALIGNMENT

Equipment Required.—An a.m. signal gener-
ator modulated 30 per cent at 1kc/s; an audio
output meter with an impedance of 102, or
alternatively a model 8 Avometer set to its
10V a.c. range; a screened test coil (85 turns
of enamel covered wire on a 2in diameter
former); a 0-1uF capacitor; an oscilloscope;
an a.f. signal generator and a 100kQ resistor.

Before starting the alignment procedure it
is advisable to check the output balance as
described in the following paragraph.

Output Balance Adjustment.—Set the slider of Ra4
to the centre of its travel, connect the output meter
and oscilloscope to the receiver output and dis-
connect loudspeaker (if using a model 8 Avometer,
leave the loudspeaker in circuit).

With the volume control at maximum, feed in a
1ke/s sincwave from the a.f, signal generator via
thf:1 i{)lokﬂ resistor to the slider of the volume con-
tro! .

Adjust the signal generator attenuator to obtain
400mW output (indicated on output meter), then
adjust Rad, together with the signal generator
attenuator for equal clipping of the displayed
waveform.

Disconnect the a.f. signal generator and oscillo-
scope.

Alignment Procedure.—All r.f. and if. measure-
ments are to be made with an a.m. signal modulated
to a depth of 30 per cent at lkcfs. The signal input
should be progressively attenuated with increasing
sensitivity so as to maintain an output of approxi-
mately 50mW with the volume control at maximum.
1.—Switch receiver to m.w.2. and rotate tuning gang

to maximum capacitance. Connect audio output

meter in place of loudspeaker (if not already
connected).

2.—Connect the signal generator via the 0-1pF
capacitor to the base of mixer/oscillator TXal,
or via car aerial socket, whichever is more con-
venient, Feed in a 470kc/s a.m. signal and adjust

Lk3, Lk2 and Lkl for maximum output. Readjust
as necessary for optimum results.

3.—Connect the signal generator to the test coil
and position the coil co-axially with the ferrite
rod and Sin from the m.w. end (I.1 end). Switch
receiver to m.w.1. and tune to 500m. Feed in a
600kc/s signal and adjust Lm2 and L1 for maxi-
mum output.

4.—Switch receiver to m.w.2. and tune to 200m.
Feed in a 1,500kc/s signal and adjust Tm2 and
Tm1 for maximum output, .

5.—Repeat operations 3 and 4 in the order given,
for optimum results.

6.—Switch receiver to Lw. Feed in a 225ke/s signal
and accurately tune receiver to this signal then
adjust L2 for maximum output.



